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Adding Integers (A)

< : . Use an integer strategy to find each answer.
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(-2) + (+8) =
(43) + (+1)
Gﬁ)f@ﬁ):
(-7) + (-2) =
;\ (-4) + (+3) =
" 7+ (+3) =
(-9) + (-4) =
(-7) + (+1) =
(-1) + (+4) =
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(+9) + (+7) = (+7) + (-1) = fﬁ%ﬂ‘ﬂ,;
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(+7) -+ (+5) = (-5) + (+9) = ) \“{ f}vf\/ l
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el (+8) + (+4) =

EIEC = (+7) + (+8) =
(-2) + (-6) = GOl EE
Bonus QUesTionNs

(B9 = (-5) + (-6) =
(-5)+ (+4)= (-3) + (-9) =
Gl GO | (-7) + (-4) =
G (6) + (+9) =
(49) + (+3)= (42) + (5 =
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Number Line Addition

Use the number line and find the sum.
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-2 + (-4) =
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0+ 6=
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5+ (-10) =
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ﬁa\"{x\l‘&%f
. Subtracting Integers {A) | J
QGCTU& r €d’ , Use an integer strategy to find each answer. ‘\4 “QEE’ I \{ () Ui

o

(-15)- 14 = 2-(-8)= 11-(-11) = mﬁ,\,’\’f &
g‘:}ﬂ{"\ 1“\
COUE
(-5)-15= (-5)-10= (-9)- (-1) = \WEL.
13-(-2) = 12.- (-4) = A e
(-8)- (-12) = (D-7= 2=
T (A= (8)-7= (-8)- (-4) =
‘; Bonus queshians
(-10)-9 = - 7l 7-3=
7-(-15) = (7)-9= (4)- (5) =
(-13)-1= (-5)-1= . (-7) - (-15) =
1-10= h-6H= 9 - (-4) =
14-9= 1-6= (-6) - 14 =
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Nymber Line Subtraction

sl

Use the number line and find the difference.
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STORY PROBLEMS WITH INTEGERS

Read carefuily and solve.

1. When Steve woke up. His temperature was 102° . 'Two hours later it
was 3° lower. What was his terperature then?

9. An elevator is on the twentieth floor. It goes down 11 floors and then up
5 floors. What floor is the elevator on now?

3. A deep-sea exploring ship is pulling up a diver at the rate of 25 feet per
minute. The diver is 200 feet below sea level. How deep was the diver
10 minutes ago?

4. Tfitis 5° cutside and the temperature will drop 17° in the next six hours,
how cold will it get?

5 Josie has $47 left on her checking account. If she writes a check for $55,
what will Josie’s balance be?






